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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 16 

Total No. of Questions: 26  Total No. of Pages: 16 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018    
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fo"k; %fo"k; %fo"k; %fo"k; % cgh[kkrk ,oa ys[kkdeZcgh[kkrk ,oa ys[kkdeZcgh[kkrk ,oa ys[kkdeZcgh[kkrk ,oa ys[kkdeZ    

Subject: BOOK KEEPING & ACCOUNTANCY 

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&         
    (i)    lHkhlHkhlHkhlHkh    iz’u gy djuk vfuok;Z gSiz’u gy djuk vfuok;Z gSiz’u gy djuk vfuok;Z gSiz’u gy djuk vfuok;Z gSaa aaAAAA    
 (ii)    iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSiz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSiz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSiz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaa aaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr A izR;sd iz’u ds fy, 1 vad fu/kkZfjr A izR;sd iz’u ds fy, 1 vad fu/kkZfjr A izR;sd iz’u ds fy, 1 vad fu/kkZfjr 

    gSAgSAgSAgSA    
 (iii)    iz’u iz’u iz’u iz’u ØekadØekadØekadØekad    6 ls 10 rd vfr y?kqmÙkjh; iz’u gS6 ls 10 rd vfr y?kqmÙkjh; iz’u gS6 ls 10 rd vfr y?kqmÙkjh; iz’u gS6 ls 10 rd vfr y?kqmÙkjh; iz’u gSaa aaA izR;sd ds fy, 2 vad fu/kA izR;sd ds fy, 2 vad fu/kA izR;sd ds fy, 2 vad fu/kA izR;sd ds fy, 2 vad fu/kkZfjr kZfjr kZfjr kZfjr 

    gSgSgSgSaa aaA 'kCn lhek 30 'kCn gSAA 'kCn lhek 30 'kCn gSAA 'kCn lhek 30 'kCn gSAA 'kCn lhek 30 'kCn gSA    
 (iv)    iz’u iz’u iz’u iz’u ØekadØekadØekadØekad    11 ls 14 rd y?kqmÙkjh; iz’u gS11 ls 14 rd y?kqmÙkjh; iz’u gS11 ls 14 rd y?kqmÙkjh; iz’u gS11 ls 14 rd y?kqmÙkjh; iz’u gSaa aaA izR;sd ds fy, 3 vad fu/kkZfjr gSA izR;sd ds fy, 3 vad fu/kkZfjr gSA izR;sd ds fy, 3 vad fu/kkZfjr gSA izR;sd ds fy, 3 vad fu/kkZfjr gSaa aaA A A A 

    'kCn lhek 75 'kCn gSA'kCn lhek 75 'kCn gSA'kCn lhek 75 'kCn gSA'kCn lhek 75 'kCn gSA    
 (v)    iz’u iz’u iz’u iz’u Øekad Øekad Øekad Øekad 15 ls 21 rd nh?kZmÙkjh; iz’u gS15 ls 21 rd nh?kZmÙkjh; iz’u gS15 ls 21 rd nh?kZmÙkjh; iz’u gS15 ls 21 rd nh?kZmÙkjh; iz’u gSaa aaA izR;sd ds fy, 4 vad fu/kkZfjr gSA izR;sd ds fy, 4 vad fu/kkZfjr gSA izR;sd ds fy, 4 vad fu/kkZfjr gSA izR;sd ds fy, 4 vad fu/kkZfjr gSaa aaA A A A 

    'kCn lhek 120 'kCn gSA'kCn lhek 120 'kCn gSA'kCn lhek 120 'kCn gSA'kCn lhek 120 'kCn gSA    
 (vi)    iz’u iz’u iz’u iz’u Øekad Øekad Øekad Øekad 22 ls 26 rd vfr nh?kZmÙkjh; iz’u g22 ls 26 rd vfr nh?kZmÙkjh; iz’u g22 ls 26 rd vfr nh?kZmÙkjh; iz’u g22 ls 26 rd vfr nh?kZmÙkjh; iz’u gSSSS aa aaA izR;sd ds fy, 5 vad A izR;sd ds fy, 5 vad A izR;sd ds fy, 5 vad A izR;sd ds fy, 5 vad                     
                                                                fu/kkZfjrfu/kkZfjrfu/kkZfjrfu/kkZfjr    gSgSgSgSaa aaA 'kCn lhek 150 'kCn gSAA 'kCn lhek 150 'kCn gSAA 'kCn lhek 150 'kCn gSAA 'kCn lhek 150 'kCn gSA        
    (vii)    llllaaaa[;kRed iz’uksa esa 'kCn lhek dk ca/ku ugha gSA[;kRed iz’uksa esa 'kCn lhek dk ca/ku ugha gSA[;kRed iz’uksa esa 'kCn lhek dk ca/ku ugha gSA[;kRed iz’uksa esa 'kCn lhek dk ca/ku ugha gSA    
Instructions: 

 (i) All Questions are compulsory.  

 (ii) Question No. 1 to 5 are objective type Questions. Each Question carries one 

 mark.   

 (iii) Question No. 6 to 10 are very short answer type Questions. Each Question 

 carries 2 marks. Word limits 30 words.   

 (iv) Question No. 11 to 14 are short answer type Questions. Each Question carries 

 3 marks. Word limits 75 words. 

 (v) Questions No. 15 to 21 are long answer type Questions. Each Question carries 

 4 marks. Word limits 120 words.   

 (vi) Question No. 22 to 26 are very long answer type Questions. Each Question 

 carries 5 marks. Word limits 150 words.  

 (vi) There is no boundation of word limit in numerical Questions.   
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iz-1 fjDr LFkku dh iwfrZ dhft, & 

(i) lkekU; gkfu -------------------------------------------------------------------dkj.kksa ls gksrh gSA  

(ii) lk>snkjh dk tUe --------------------------------------------------ls gksrk gSA  

(iii) [;kfr ,d ------------------------------------------------------ lEifÙk gSA 

(iv) lk>snkjh dk u;k vuqikr & iqjkuk vuqikr ¾ ---------------------------------------- 

(v) _.k i=] _.k dk ,d fyf[kr ----------------------------------------------------------- gSA  

¼¼¼¼1111××××5555¾¾¾¾5555½½½½    

 Fill in the blanks - 

(i) Normal losses take place due to ………………reasons.  

(ii) The partnership originates with ……………………………..  

(iii) Goodwill is an…………………………………….. asset. 

(iv) New Ratio of partner - old Ratio = ………………………… 

(v) Debenture is a written …………………………..  of debt.  

 

iz-2 fuEufyf[kr dk ,d 'kCn@okD; esa mÙkj nhft;s & 

(i) izsf"kr eky dh gkfu fdlds }kjk ogu dh tkrh gS\  

(ii) iw¡th [kkrk] ftldk vfUre 'ks"k izfro"kZ cnyrk jgrk gS] mls D;k dgrs 

 gSa\ 

(iii) [;kfr ds ewY;kadu dk vk/kkj D;k gS\ 

(iv) e`r lk>snkjh dh ns; jde dk Hkqxrku fdls fd;k tkrk gS\ 

(v) _.k i= ftudk dsoy lqiqnZxh ek= ls gLrkarj.k gks tkrk gS] dgykrs  

 gSa\ 

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½ 

 Answer the following in one word/sentence -  

(i) By whom the loss of consigned goods is borne? 

(ii) What is that capital A/c called of which the closing balance 

 changes every year?  

(iii) What is the basis of valuation of goodwill?  

(iv) To whom the amount payable to deceased partner is paid?   

(v) Debentures which are transferable by mere delivery are  

 called?  
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iz-3 fuEufyf[kr dk lR;@vlR; esa mÙkj nhft, & 
(i) izs"k.k [kkrk ukeek= dk [kkrk gksrk gSA  
(ii) lk>snkjh lays[k lnSo fyf[kr gksrk gSA 
(iii) A, B vkSj C 3:2:1 ds lk>snkjh gSaA B fuo`Ùk gksrk gSA A vkSj C dk 

u;k vuqikr 3:2 gksxkA   
(iv) QeZ ds fo?kVu vkSj lk>snkjh ds fo?kVu esa dksbZ vUrj ugha gSA 
(v) ca/kd _.ki=] lqjf{kr _.ki= dgykrs gSaA 

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½ 

 Answer the following in true or false -  

(i) Consignment account is a nominal account. 

(ii) Partnership deed is always in writing.  

(iii) A, B and C are partners in 3 : 2 : 1 respectively. B retires the 

new ratio of A and C will be 3 : 2.   

(iv) There is no difference between the dissolution of firm and 

dissolution of partnership.  

(v) Mortgaged debentures are called Secured debentures.  

 

iz-4 lgh tksfM+;k crkb;s & 
        ¼v½                               ¼c½ 
(i) _.ki=ksa ij izhfe;e   (a) izcU/k esa Hkkfxrk ugha 
(ii) _.ki= /kkjh    (b) lk>snkj 
(iii) R;kxh lk>snkj    (c) iw¡thxr ykHk 
(iv) olwyh [kkrs dk ykHk    (d) r`rh; i{k  
(v) fo?kVu ds i'pkr~ izFke Hkqxrku  (e) {kfriwfrZ  

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½ 

 Match the columns – 

             (A)                                                (B) 

(i) Premium on Debentures    (a) No right in management  

(ii) Debenture Holder    (b) Partners  

(iii) Sacrificing Partner      (c) Capital Gain 

(iv) Profit on Realisation A/c  (d) Third Party  

(v) First Payment after   (e) Compensation  

 dissolution   
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iz-5 fuEufyf[kr esa ls lgh fodYi pqudj fyf[k, & 

(i) vf/kHkkoh deh’ku dk Hkqxrku fd;k tkrk gS &   

 ¼v½ dqy foØ; ij     

 ¼c½ ykxr ewY; ij  

 ¼l½ m/kkj foØ; ij     

 ¼n½ chtd ewY; ls vf/kd foØ; ewY; ij  

(ii) chtd ewY; 48000 `, dk eky] tks ykxr ls 20% vf/kd gS] izs"k.k ij 

Hkstk eky dk ykxr ewY; gksxk &   

 ¼v½ 40]000 `    

 ¼c½ 50]000 `  

 ¼l½ 52]000 `   

 ¼n½ 46]000 ` 

(iii) lk>snkj dk QeZ ls lEcU/k gksrk gS &   

 ¼v½ Lokeh vkSj lsod dk   

 ¼c½ lsod dk  

 ¼l½ izca/kd dk     

 ¼n½ ,dkf/kdkjh dk  

(iv) vforfjr ykHk o lap;ks dks gLrakrfjr fd;k tkrk gS &   

 ¼v½ jksdM+ [kkrs esa    

 ¼c½ cSad [kkrs esa  

 ¼l½ lk>snkjksa ds iw¡th [kkrs esa  

 ¼n½ ykHk gkfu [kkrs esa  

(v) olwyh [kkrk gS &   

 ¼v½ O;fDrxr [kkrk    

 ¼c½ ukeek= dk [kkrk 

 ¼l½ ykHkgkfu [kkrk    

 ¼n½ lk>snkjksa dk [kkrk  

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½ 
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 Select the correct answer of the following -  

(i) Overriding commission is paid on -   

 (a) Total sales     

 (b) Cost price  

 (c) Credit sales     

 (d) On sales proceeds over and above the invoice price    

(ii) Goods consigned at invoice price `48,000 which is 20% 

above the cost, the cost price of goods will be -  

 (a) `40000      

 (b) `50000  

 (c) `52000      

 (d) `46000  

(iii) The relationship of partner’s with the firm is -  

 (a) As Owner and Agent   

 (b) As servant  

 (c) As manager     

 (d) As monopolist  

(iv) Undistributed losses and reserves are transferred to -    

 (a) Cash Account     

 (b) Bank Account  

 (c) Capital Account of partners 

 (d) Account of partners  

(v) Realisation Account is -   

 (a) Personal Account   

 (b) Nominal Account 

 (c) Profit & loss Account   

 (d) Partner’s Account  
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iz-6 _.ki= ls D;k vk’k; gS\      

What do you mean by debentures?     

vFkokvFkokvFkokvFkok@@@@OR 

vifjorZu’khy _.k i= D;k gS\     

What are non convertible debentures?  

¼2½¼2½¼2½¼2½    

iz-7 Lkkeku vkdkj ds fooj.kksa ls D;k vk’k; gS\      

What is meant by common size statement?      

vFkokvFkokvFkokvFkok@@@@OR 

rqyukrkd vk; fooj.k fdls dgrs gaS\     

What is comparative Income statement?  

¼2½¼2½¼2½¼2½ 

iz-8 'kh?kz lEifÙk D;k gS\      

What is Quick Ratio?     

vFkokvFkokvFkokvFkok@@@@OR 

csps x;s eky dh ykxr fdl izdkj Kkr djrs gSa\  

How would you find out the cost of goods sold?  

¼2½¼2½¼2½¼2½ 

iz-9 fuEu ls ldy ykHk vuqikr dh x.kuk dhft, & 

lady ykHk 2,00,000  

foØ; 8,00,000    

Form the following information calculate Gross Profit Ratio – 

Gross profit  2,00,000  

Sales 8,00,000     

vFkokvFkokvFkokvFkok@@@@OR 

vuqikr fo’ys"k.k ds nks mÌs’; crkb;sA 

Write any two objectives of Ratio Analysis. 

¼2½¼2½¼2½¼2½ 
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iz-10 jksdM+ izokg D;k gS\      

What is cash flow?     

vFkokvFkokvFkokvFkok@@@@OR 

foÙkh; fØ;k,¡ D;k gS\                 

What are Financing Activities?  

¼2½¼2½¼2½¼2½ 

iz-11 lk>snkjh ds fo?kVu vkSj lk>snkjh QeZ ds fo?kVu esa vraj crkb;sA ¼dksbZ rhu½    

State the difference between the dissolution of partnership and 

partnership firm. (Any three) 

vFkokvFkokvFkokvFkok@@@@OR 

olwyh [kkrk ,oa iquZewY;kdau [kkrs esa vraj crkb;sA ¼dksbZ rhu½     

State the difference between Realisation A/c and Revaluation A/c. 

(Any three )  

¼¼¼¼3333½½½½ 

iz-12 A vkSj B ,d QeZ esa lk>snkj FksA mUgksus 31 fnlEcj 2017 dks lk>snkjh 
lekIr djus dk fu’p; fd;kA mudh vkfFkZd fLFkfr bl izdkj Fkh & 
lkekU; lap; 3000 jksdM+ 3000 

ysunkj  3000 nsunkj 20000 

B dk _.k [kkrk 3000 Hkou  10000 

iw¡th [kkrs     
              A  12000    
         B 12000 24000   
 33000  33000 

 
Hkou 25000 `esa cspk x;kA nsunkjksa ls 18000 `izkIr gq,A ysunkjksa dks dsoy 

2800 `fn;s x;s olwyh O;; 500 `gq,A olwyh [kkrk cukb;sA 

¼¼¼¼3333½½½½ 
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 A and B were equal partners in a firm. They decided to dissolve 

the partnership on 31st December 2017. Their financial position 

was as follows –  

General Reserve  3000 Cash  3000 

Creditors  3000 Debtors  20000 

B’s Loan A/c 3000 Building  10000 

Capital A/c    

              A 12000    

              B  12000 24000   

 33000  33000 

 

Building was sold for `25000, `18000 received from Debtors. 

`2800 paid to creditors. Expenses of realisation amounted to 

`500. Prepare Realisation A/c.   

vFkokvFkokvFkokvFkok@@@@OR 

QeZ ds vkdfLed lekiu dh n’kkvksa dks fyf[k;sA     

Write the conditions of dissolution on contingences’ of a firm.   

    

iz-13 ,d dEiuh us 10 ` okys 12000 lerk va’k turk esa fuxZfer fd;sA lEiw.kZ 

jkf’k ,d eq’r izkIr gks x;hA dEiuh dh iqLrdksa esa vko’;d iath izfof"V;k¡ 

dhft,A       

A company issued 12000 equity shares of `10 each to the Public. 

All amounts have been received in Lump sum. Pass necessary 

Journal entries.        

vFkokvFkokvFkokvFkok@@@@OR 

lerk va’k dh dksbZ rhu fo’ks"krkvksa dks fyf[k,A  

Mention any three characteristics of equity shares.  

¼¼¼¼3333½½½½ 
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iz-14 lat; ds ikl 10 `okys 50 va’k Fks] ftlesa ls og f}rh; ,oa vafre ;kpuk 

ds 3 ` izfr va’k ugha ns ldkA lapkydks us mlds va’kksa dks tCr dj fy;kA 

va’kksa dh tCrh dh udy izfof"V dhft,A       

Sanjay was holding 50 shares of `10 each on which he couldn’t 

pay the amount of second & final call @ `3 per share. Directors 

forfeited his shares. Make journal entry for forfeiture of shares.         

vFkokvFkokvFkokvFkok@@@@OR 

lerk va’k rFkk iwoZf/kdkj va’k eas vUrj dhft,A ¼dksbZ rhu½ 

Distinguish between Equity shares & Preference shares. (Any 

three)   

¼¼¼¼3333½½½½ 

iz-15 X, Y vkSj Z lk>snkj gSA os ykHk gkfu 2 : 2 : 1 ds vuqikr esa ck¡Vrs gSA vU; 

lk>snkjksa us Z dks vk’oklu fn;k fd mls de ls de 10,000 `ykHk vo’; 

gh feysxkA pkyw o"kZ dk 'kq) ykHk 40,000 `gSA ykHk gkfu fu;kstu [kkrk 

cukb;sA        

X, Y and Z are partners sharing profit & loss in the ratio of 2:2:1. 

Z's share is guaranteed by the other partners at a minimum profit 

of `10000. The net profit for the current year amount to `40,000. 

Prepare profit & loss Appropriation Account.           

vFkokvFkokvFkokvFkok@@@@OR 

lk>snkjh lays[k esa mYysf[kr pkj fcUnq le>kb;sA  

Specify any four points of partnership deed.  

¼¼¼¼4444½½½½ 
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iz-16 Hkkjr fyfeVsM us ,d e’khu vt; VsªMlZ ls 20000 `esa [kjhnh rFkk blds 

izfrQy esa 10 `okys 2000 lerk va’k mUgsa fuxZfer fd;sA dEiuh dh iqLrdksa 

esa udy cgh izfof"V;k¡ nhft,A      

Bharat Limited purchased a machinery from Ajay Traders for 

`20,000 and in consideration issued 2000 equity shares of `10 

each. Pass necessary journal entry in the books of company.          

vFkokvFkokvFkokvFkok@@@@OR 

iwokZf/kdkj va’kksa ds dksbZ pkj izdkj crkb;sA 

Write any four types of preference shares.  

¼¼¼¼4444½½½½ 

iz-17 fodkl fyfeVsM us 100 `okys 9%, 8000 _.ki= 10% cÍs ij fuxZfer 
fd;sA vkosnu ij 40 `,oa 'ks"k vkcaVu ij ns; FksA iath izfof"V;k¡ nhft,A    
Vikas Limited issued 8000, 9% debentures of `100 each at a 

discount of 10% payable `40 on application and the balance on 

allotment. Pass necessary journal entries.      

vFkokvFkokvFkokvFkok@@@@OR 

_.ki=ksa ds fofHké izdkjksa dk o.kZu dhft,A     
Explain the various types of debentures.   

¼¼¼¼4444½½½½ 

iz-18 dey fyfeVsM us 2000] 11% _.ki= izR;sd 100 `dk 5% izhfe;e ij 
ykHk esa ls 'kks/ku fd;sA dEiuh ds ikl mDr dk;Z ds fy;s i;kZIr ykHk FkkA 
vko’;d udy cgh izfof"V;k¡ nhft,A      
Kamal Limited redeemed 2000, 11% debentures of `100 each at 

a 5% premium out of profit. The company has sufficient profit for 

the purpose. Pass necessary Journal entries.       

vFkokvFkokvFkokvFkok@@@@OR 

_.ki=ksa ds 'kks/ku gsrq fuf/k dh O;oLFkk ds L=ksr crkb;sA  
Explain the sources of funds for redemption of debentures.   

¼¼¼¼4444½½½½ 
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iz-19 fuEufyf[kr lwpukvksa ls rqyukRed fooj.k i= 31 ekpZ 2017 ,oa 31 ekpZ 
2018 dks lekIr o"kZ gsrq cukbZ;sA 

 2017 2018 

foØ;  2,40,000 3,00,000 

csps x;s eky dh ykxr 1,40,000 1,50,000 

vizR;{k O;;  40,000 50,000 

dj gsrq izko/ku  12,000 20,000 

   
From the following information prepare a comparative statement 

for the year ended 31 march 2017 and 31 march 2018.  

 2017 2018 

Sales  2,40,000 3,00,000 

Cost of goods sold 1,40,000 1,50,000 

Indirect expenses 40,000 50,000 

Provision for tax’s  12,000 20,000 

        

vFkokvFkokvFkokvFkok@@@@OR 

foÙkh; fooj.kksa ds fo’ys"k.k dk egRo le>kb;sA      
Explain the importance of Analysis of financial statement.  

¼¼¼¼4444½½½½ 

iz-20 jksdM+ izokg fooj.k ,oa dks"k izokg fooj.k esa varj crkb;sA ¼dksbZ pkj½    

Explain the difference between cash flow statement and fund flow 

statement. (Any four)    

vFkokvFkokvFkokvFkok@@@@OR 

jksdM+ izokg fooj.k dh lhek,¡ crkb;sA     

Explain the limitations of cash flow statement.  

¼¼¼¼4444½½½½ 
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iz-21 fuEu lwpukvksa ls lapkyu fØ;kvksa ls jksdM+ izokg x.kuk dhft, & 
 
 31st march 2017 

` 

31st march 2018 

` 

ykHk gkfu [kkrk 1,20,000 2,80,000 

âkl vk;kstu  40,000 72,000 

lkekU; lap; 80,000 1,12,000 

dj izko/kku 30,000 66,000 

[;kfr 70,000 55,000 

isVsUV  50,000 38,000 

 
31 ekpZ 2018 dks 35,000 `gkfu ij ,d e’khu dk foØ; fd;k x;kA o"kZ 
ds nkSjku dj dk Hkqxrku ugha fd;k x;kA     
Calculate the cash flow from operating Activities from the 

following information –  

 31st march 2017 

` 

31st march 2018 

` 

Profit and Loss A/c 1,20,000 2,80,000 

Provision for Depreciation  40,000 72,000 

General Reserve  80,000 1,12,000 

Tax Provision  30,000 66,000 

Goodwill  70,000 55,000 

Patents  50,000 38,000 

 

A machine is sold on Loss of `35,000 in the year ending 31st 

March 2018. During the year tax has not been paid.      

vFkokvFkokvFkokvFkok@@@@OR 

dks"k izokg fooj.k dk egRo crkb;sA 

Explain the importance of funds flow statements. 

¼¼¼¼4444½½½½ 
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iz-22 A us 6000 ` ewY; dk izs"k.k B dks Hkstrk gSA A us jsy fdjk;k ds 500 ` 

fn;sA B us 300 ` pqaxh dj nsdj eky NqM+k ysrk gSA mlus lEiw.kZ eky 

8400 `esa csp fn;kA mls 5% deh’ku dqy fcØh ij fn;k tkrk gSA A dh 

iqLrdksa esa izs"k.k [kkrk cukb;sA      

A sent out a consignment of the value of `6000 to B, A paid `500 

for freight and B clears the goods paying `300 for duty. He sold 

all the material for `8400. 5% commission on sales is given to B. 

prepare consignment Account in the books of A.       

vFkokvFkokvFkokvFkok@@@@OR 

izs"k.k ,oa fcØh esa vUrj crkb;sA  

Distinguish between consignment and sales.  

¼¼¼¼5555½½½½ 

iz-23 vkuUn] clar ,oa latho lk>snkj gS vkSj 4 : 3 : 2 ds vuqikr esa ykHk ckVrs 

gSA lk>snkjksa us Hkfo"; esa cjkcj&cjkcj ykHk ckVus dk fup; fd;k] blds gsrw 

[;kfr dk ewY;kadu 36000 `fd;k x;kA udy cgh izfof"V nhft;sA      

Anand, Basant and Sanjeev are partners, sharing profit and 

losses in the ratio of 4 : 3 : 2. The partners decided to share 

profits equally in future; goodwill is valued at `36,000. Give 

necessary journal entry.        

vFkokvFkokvFkokvFkok@@@@OR 

lk>snkjh ds iquxZBu ls vki D;k le>rs gS\ ;g fdu n’kkvksa esa gksrk gS\     

What do you understand by reconstitution of partnership? In what 

circumstances it takes place?  

¼¼¼¼5555½½½½ 
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iz-24 vt; vkSj cynso cjkcj ds lk>snkj gSA 31 fnlEcj 2017 dks mudk fpÎk 

fuEufyf[kr gS &  

 

nkf;Ro jkf'k lEifÙk jkf’k 

cSad vf/kfod"kZ  5000 jksdM+ 10,000 

ns; foi=  7000 nsunkj  20,000 

ysunkj  8000 LVkWd  10,000 

iw¡th     

             vt;  20000 miLdj 10,000 

             cynso  10000   

 50000  50000 

 

mUgksuas fot; dks 
4

1  Hkkx ds fy, u;k lk>snkj cuk;kA og 8000 `iw¡th ds 

,oa 6000 ` [;kfr ds fy, yk;kA QuhZpj dk ewY; 16000 `vkSj LVkWd dk 

ewY; 8000 `vkadk x;kA ysunkjksa ij 10% dVkSrh gsrq lap; fd;k x;kA iquZ 

ewY;kdau [kkrk ,oa lk>snkjksa ds iw¡th [kkrs cukb;sA  

¼¼¼¼5555½½½½ 
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 Ajay and Baldev are partners in a firm. Their balance sheet as on 

31st December 2017 is as follows–  

Liabilities Amount Assets Amount 

Bank Overdraft  5000 Cash 10,000 

Bills Payable   7000 Debtors   20,000 

Creditors  8000 Stock  10,000 

Capital     

             Ajay  20000 Furniture  10,000 

             Baldev  10000   

 50000  50000 

They Admitted Vijay as a partner for 
4

1  shares. He brought `8000 

as capital and `6000 as goodwill in cash. Furniture was valued at 

`16,000 and stock at `8000. Provision for Discount on creditors 

was created @ 10%. Prepare Revaluation A/c and Partner’s   

capital A/c.    

vFkokvFkokvFkokvFkok@@@@OR 

fuoÙ̀k lk>snkj dks ns; jkf’k ds Hkqxrku dh fof/k;ksa dks le>kb;sAAAA     

Explain the different modes of payment of amount due to retired 

partner. 
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iz-25 vf/kÑr iw¡th ,oa fuxZfer iw¡th esa vraj crkb;sA      

Write the difference between Authorised capital and Issued 

capital.     

vFkokvFkokvFkokvFkok@@@@OR 

lalkj fyfeVsM esa 10 `okys 20,000 lerk va’k turk dks fuxZfer fd;s] 

Hkqxrku fuEukuqlkj ns; Fkk & 3 ` vkosnu ij] 3 `vkcaVu ij ,oa 4 `izFke 

,oa vafre ;kpuk ijA lHkh va’k izkfFkZr vkSj fuxZfer gks x;sA lHkh Hkqxrku 

le; ij izkIr gq, dsoy ,d v’ka/kkjh ftlds ikl 300 va’k gS og izFke ,oa 

vafre ;kpuk dk Hkqxrku u dj ldkA blds va’kksa dk lapkydks }kjk gj.k 

dj fy;k x;kA mi;qDr O;ogkjkaas gsrq udycgh izfof"V;k¡ nhft;sA        

     

Sansar Ltd Issued 20,000 equity shares of the value of `10 each 

payable `3 on application, `3 on allotment and `4 on first and 

final call. All the shares are subscribed and duly allotted. All cash 

is duly received except the call money on 300 shares. These 

shares are forfeited by Directors. Give necessary journal entries.       

¼¼¼¼5555½½½½ 

iz-26 dEiuh ds fLFkfr fooj.k ds nkf;Ro i{k dh 5 enksa dks le>kb;sA      

Explain the 5 items of Liabilities side of Balance sheet of a 

company.     

vFkokvFkokvFkokvFkok@@@@OR 

dEiuh ds fLFkfr fooj.k dh lEifÙk i{k dh 5 enksa dks le>kb;sA  

Explain the 5 items of Assets side of balance sheet of a company.  

¼¼¼¼5555½½½½    
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